MNRERMOBERE—BER (HT6 FE)

(BUH#E)

. o TSRS A FN64F
o e wis | (o | R | N

A A

1 P 1 FL R AT — TR AiT 125 3,541 130 3,467
3 LAY — b B AR T 81 13,489 86 13,497
4 P 1 HL R AT — FUER BRI 91 6,845 96 6,870
5 5 A LT - FUERER Al 88 12,815 93 12,995
6 SRR — E$73 103 3,497 104 3,452
TUA:17) S0 PR HL R — TCABER 68 6,214 78 6,172
8 S — s 190 1,254 202 1,169
9 TG R 58 B — TCABER A 86 10,502 89 10,561
10 L1k iy — = i) 135 3,290 138 3,319
11 (LI T (R I1) =4 AT 118 4,248 115 4,398
12 SEANEE KSR — = i) 88 6,929 91 7,022
13 ESSPAN — I A TSR i i 164 4,627 166 4,500
15 ST A AR R SRR — B i) 103 2,570 105 2,664
16 HAREHUN SR D - TCABER A 240 1,175 219 1,232
18 BN — BT 214 2,845 216 2,699
19 PN =N — TCABER A 176 875 181 963
20 TR Ao i G BRAE ) [N ) 205 1,232 208 1,200
22 RO B H o i — 7 L3 [ M i 226 1,265 200 1,144
23(IH:73) WP NSZZ —IF )L — FUER AT 110 3,401 127 3,388
26 (LI T — TCABER 117 4,658 122 4,631
27 FARSN KR — B S=PAN 150 2,500 151 2,360
28 NG ] — K= 106 4,972 108 5,064
29 WP RAS —3IF )L - SN 147 2,253 149 2,293
31 5 A LT — UEIEPN 112 1,468 115 1,447
32 FARSN KR — SRPSFIE 98 4,431 99 4,579
33 WG NAL —IF v - TCABER 134 2,369 132 2,464
37 P 1 FL IR AT — = Sa4Ei) 117 5,154 123 5,077
42 TCABER — 75 1 BRET 167 740 176 762
43 ES=PAN — I AHAR SRR 191 941 176 989
46 TG R 5 FL — N2 B I 75— 58 - R0 0 ot 90 10,140 95 10,060,
50 FUER AT — STAT AR R 101 5,804 99 5,760
51 SEANAE KRR - =T 120 1,294 127 1,221
52 SEAN AR R R (UARRTEARS) B SI=PAN 110 550 120 491
53 PE IV PNi] — SEANAE R SR - - 108 437
55 SEANEE KSR (FAA N B SI=PAN 121 1,742 141 1,655
58 [N N Ry e 8 7SR LA i) — JUGR B Al 88 2,107 71 2,356
59 L1k iy — = SayEi) 114 5,287 117 5,295
65 5 A LT — PSP 129 1,251 135 1,233
67 P 1 FLJRE AT — AR 138 329 142 327
69 BN — FEBRUR A 151 2,346 163 2,257
70 AN AR B — RZE R A1 BRI 101 2,192 111 2,175
71 JUSR HL LRI — LAY 151 2,720 155 2,737
75 FUER R — el 170 1,449 165 1,075
78 NG ] — I A TS R i i 196 932 228 874
80 R ZE KA )1 BR i — ik ] 101 3,019 97 3,203
81 L ON =N — TCABER 120 3,658 122 3,669
84 JUGe L Al — ORZER A0 ) BR AT 232 1,047 237 1,008
85 HURBER AT — JL - — 123 485
86 /N 2 ] - OH B A T - AU 2] SR « -2 b e i 68 829 78 717
88 JU 5 HLH A — FEBBRAT 145 537 162 377




o o ARNSAEEE ARG
91 BN — N 127 3,713 132 3,688
93 P FLJEE — f 124 4,937 114 5,041
BULER — - 73 2,369
EX100 e NG) — SRPE SF AT - — 73 1,914
EX101 SRR i — TG - — 76 455
102 LR 2Z—3IF 1 — AR E I - — 113 926
105 SRR AT — SRR SF AT - — 85 1,139
106 AR ER A — =R BT - — 42 356
201 T S B T (E 7 1) I SR AL 77 12,108 81 12,178
202 JUSRHL LRI (REEp AR L AT JLG= HLE R 79 13,997 81 14,066
203 PR EL R i ((EpN{IES) bR ELJRE 73 17,209 78 17,173
204 LR 2Z —3F 1 (P57 5 T bR AL —IF 87 11,082 91 10,820
205 USRI (& A i) USRI 79 33,293 82 34,270
206 LR 22 —3IF L G5 bR 22 —IF 66 27,843 69 27,789
207 JUSR HL AT (iiNE)) JLG= BT 57 14,281 56 15,581
208 JUSR HL LRI RILtE5) JLG= HLE R 115 3,601 120 3,579
dk1 L REE SAZ —IF v — E73°3 97 1,820 98 1,858
1k3 LR 2Z —3F 1 — TEREE AT 110 2,043 103 2,173
ik8 LR 22 —3IF L (EBEiE) KRB 22 —IF 121 2,738 120 2,741
(£} WP SAZ —3IF v — FEBRPE O 295 536, 289 265
[P BV SAK =)L — FEBRYY 1 187 2,999 159 3,032
753 WPGRAR —3F )L — FEERPE B 289 866 256 1,081
754 WG NASZ —IF v — JRAEJ R 173 1,524 211 1,291
755 TSR P — FEERPE B 256 1,181 300 705
756 (ERTLRPS — FEBRYY 1 197 1,013 194 700
78 WP ST —3IF v — FEBRPE O 211 1,146 228 985
[ERS) A2 R AR B — JRAEJ R - - 268 259
1l Py EBERPE B — FEBHUR 1 221 1,201 216 1,200
2 Ay B BRVE O — JREMHERGRA) 144 1,970 138 1,980
3 Vr B BR VG B — TR % AL 149 719 139 705
5 Py B O — SRR 122 1,817 129 1,469
6 Py B O URBRFARBRAT) A B - — 156 276,
8 WA ] — P R ERR 235 514 249 724
M1 SEANAE KR — SRy 125 993 126 893
ek — 102 332,939 103 339,523

1 CEZEREIT. 100 O AZEDT-DIE IVIET OB D> TS DE TR FEIE T,

ZOBENT00LW ST IUERT, RETNIERTTHHILEZRL COET,
BFGHLE L, 24 RN ETF, BORMOIRFTT,

58% 88%, EX1005, EX101%, 1025, 1055 R #EDfcFHUT ., AT H H (10 -k 0 OB IELT) OFH) T,




